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1 The Simple Language (of NIT Compiler Course II)



Al (Nested) o3 33 95 15lg3 o0 LoSels 9 353 cayyel yudite olod 0 Soby y 5a

2358 a agyss C oy yliie ssésia s (Scope) sojs>

Goyel yy JSKCh 4 g «local» gadS gdalS jloslaiwl b Sols s s slaysia

g 5

local w; # w is a variable of type word or word pointer
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def sum(a, b)

{
local sum;
sum = a + b;
return sum;
}
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def sum_all (A, n)

{

local sum;

local ij;

i=0;

sum = 0;

while (i < n) {
sum = sum + A[i];
i=1i+1;

}

return sum;
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def main()

local A;
A = array(100);
sum_all (A, 100);

return O;
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# Inefficient calculation of Fibonacci sequence
def fib(n)
{
if (n < 2)
return 1;
return fib(n - 1) + fib(n - 2);

}
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prog

func
body

stmt

defvar

expr

func

func prog
def iden ( flist ) { body }

stmt

stmt body

expr
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defvar ; |

if ( expr ) stmt
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if ( expr ) stmt else stmt |

while ( expr ) stmt

return expr ;
{ body }
local iden
clist )

iden
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iden |

num
flist = |

iden |

iden , flist
clist = |

expr |
expr , clist
num ::= [0-9]1+
iden ::= [a=zA-Z_] [a-zA-Z_0-9]*



